Probably it's about ‘Normal’ probabilities.

This resource was written by Derek Smith with the support of CASIO New Zealand. It may be freely distributed but remains the
intellectual properiy of the author and CASTO.
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Tests show that the bone mineral density (BMD) of 25-year-old females is approximately normally distributed,
with a mean of 950 mg/em? and a standard deviation of 125 mg/em?.

1. What is the probability that a 25-year-old female has a BMD of more than 1000 mg/cm??
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2. Ngaio is a 25-year-old. Her BMD has a z-value of 0.49. What is Ngaio’s actual BMD measurement?
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SOLV [F3] Clear any previous work. Enter the Z-score transform.  Enter the known values.
S Move the cursor to E:QE:@E;["E? n

= ‘hlghllght thB ks% 43 SDL“' [Fﬁ]

h”“aiggga? target variable “X or [EXE].

AW o) g ' [Ead

3. What proportion of 25-year-old females could be expected to have a BMD that is less than Ngaio©s?
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4. Tests show that the BMD of 25-year-old males is approximately normally distributed, with a standard
deviation of 150 mg/cm?. If the probability that a randomly chosen 25-yvear-old male has a BMD above
1000 mg/cm? 18 0.656, find the mean BMD of 25-year-old males.

Select STAT:
Use the Standardised Normal Distribution, with p = 0 and 5 = 1 for an inverse Normal Calculation.
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DIST [F5] NORM [F1] InvN [F3] Entcr the known values.
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Use this information to calculate the mean.
Select EQUA:
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Using the CATALOG key [SHIFT] [4].  Then [F6] to select a category (Statistics)
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mCD( to do inverse Normal calculations.

[F1] to enter this command.
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Question 1:

inyNormCD{ works with inputted values: InyNormCDyarea, std dev, mean)
[Note: The “Area’ is the probability calculated from the LEFT tail of a Normal Distribution curve.]
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. Question 4(1* part): [EIP

For further tips, mors helpful information and software support visit our webzites:
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